
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 3rd Week, 1st  Day Multiplication and Division 

Q.No.1. Choose the correct option. ( 0.5 x 6 = 3) 
i) The product of 381 and 10 is:  10  381

(a) 3 810 (b) 3 018 (c) 3 180 (d) 3 108

ii) The product of 2 100 and 100 is:  100  2 100

(a) 21 000 (b) 210 000 (c) 210 002 (d) 102 000

iii) What is the product of 25 118 and 1 000 ?  1 000  25 118

(a) 251 180 000 (b) 251 118 000 (c) 25 118 000 (d) 25 108 000

iv) 75 000 ÷  1 000 = ?

(a) 70 (b) 10 (c) 100 (d) 75

v) When we divide 55 500 by 10 we get:  10 55 500

(a) 5 055 (b) 5 550 (c) 5 505 (d) 5 555

vi) When we divide 96 000 by 100 we get:  100 96 000

(a) 96 (b) 9 600 (c) 96 000 (d) 960

Q.No.2. Find the product. (2 x 2 = 4) 
i) 52  118 , 1 000

_________________________________________________________________

ii) 69 472 , 100

________________________________________________________________

Q.No.3. Solve the following. (1.5 x 2 = 3) 
i) 65  000 ÷ 10

_________________________________________________________________

ii) 78 000 ÷ 100

_________________________________________________________________
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